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From the graphs,  
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(ii) Equation of tangent at y = 2 

 

4 2ln 2 2

            

y kx   
 

(iii) Angle between y-axis  and the tangent in (ii) 

14.0    
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Distance she runs in the 15th session  

2937.19 metres  

(b) Least n = 32  

She needs a minimum of 32 sessions.     
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(c) Wendie’s average speed of the 33rd session first exceeds 

220 metres per minute. 
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(iv) 4.2059 4.21(3 s.f.)t     

(v) Method 1: 

From graph, when , 15t x     

For large values of t, the mass of X increases and 

approaches to a limit of 15 grams  
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For large values of t, the mass of X increases and 
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